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Cash at bank Rs, 1,00,000

Assume production is continuous f(')r‘52 weeks in the year. _ 9
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(b) Explain the concept of Permarient working cgpital.and Temporary working capital. 3
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Goodluck Ltd. provides the following information and requested you to prepare a cash budget

for quarter ended 31st March, 2014 (Figures in lakhs) :

Month Sales Purchases Wages Expenses
~ Nov, 2013 5.00 - 100 2.00 0.40
Dec., 2013‘ 6.00 2.00 2.00 0.40
" Jan, 2014 4.00 300 2.20 0.50
Feb., 2014 5.00 . 2.00 2.20 0.50 .
Ma;-ch.; 2014 - 6.00 1.00 2.40 0.50
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Additional Information .

() 10% sales and purchases are'on cash.

(i) Credit to deblors : one month on an average, 50% of debtor will make payment on

the due date while the rest will make payment one month thereafter.
(i) Creditfrom customers : 2 months.
(iv) Expenses and wages are generally paid within the same month.

~(v) Plant 'costing Rs: 1.00 lakh will be installed in Feb. on paynﬁent of 25% of the cost
in additions to the installation cost of, Rs. 5,000, balance to be paid in three equal instalments

from the following month.

(vi) bpening cash balance is Rs. 2,00,000. ; ' 12
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FEaL 2013 | 5.00 100 | - 200 0.40
femer, 03 | 600 | 200 200 0.40
e, 2014 400 300 2.20 050
HEL, 2014 | 5.00 -'2.00 2.20 10.50
T, 2014 ' .6.00 | .1.00 d1 . 240 .0.50
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(@) The following information is available in respect of the rate of return on investment (),

the capitalisation rate (Ke) and earnings per share (E) of a company : 3
R = 12%, E = Rs. 20

~ Determine the value of its shares, assuming the following :

D/P Ratio (1-b) | Retention Ratio (b) | Ke (%)

Ll o10% 0% |- 20

2. 0% | . 30% . 14
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‘ '(b)- The follolwing’infor_mati(;n is available in Argspect‘ of a firm :

~ Capitalisation rate (Ke) :-‘0.10 |
~ Eamings per share (E) = Rs. 10
Assumed rate of return on investments .(r) = 15%

Calcu]atej the market price of shares using Walter’s model assuming divided per

sharelsRSS S o o 3
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The two companies U and L, belong to the equi‘v_alent risk class. These two firms are
identical in every respect except that U company is unlevered while company L has

10 percent debentures of Rs. 30 lakh. The other inforl_natioh 1s as follow :

- Particulars FimU | | Firm L

 Net operating lncomé_(EBlf)- 750,000 | 750,000

" Equity ca]:')ita]isation rate (Ke) 15% 20%
Implied overall capitalisation rate 15% o 143%

An investor owns 10% equity shares of company L. Show the arbitrage process and

' the amount by which he could reduce his outlay through the use of leverage. 6 '
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From the following information, prepare mcome statement and comment on the financial
i}osition and structure of P, Q and R companies : | | - 9
| Fi.na‘ncial bata o | | P | 1 | R
| Intergst ekpen;es (Rs.) . 30-0 | 400 ) .10_00
Téx rate (%) | L s0 Cso |- so
Degree of operating leverage - - ‘6 7 3
Degree of financial leverage : . | 4 ' | 5 ©3
Vﬁiable gxpenses as a percentage of sales 65 7_ ' N 75 70
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. l.\lote : | | Answers may be written either in English'_or .in Hindi; but the same medium should be
used thfouéhdut tﬁe paper. |
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Question No. '1 is'.co;pulsory aﬁd do any five of the remaining questions_ -
I F. 1 W%awﬁaﬁ@aﬁéﬁam-aﬁﬁq -
1. ta) SS Ltd. is cons;idering to buy a.n asset .c;)sting' Rs. 2,00,000. The estima-ted operatin.‘g '

profit before depreciation and tax (PBDT) during its useful life of 4 years is Rs. 65,000

in each year. Its scrap value at the end of 4th year is estimated to be Rs. 20,000. The

PT.O. .
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" asset being considered for pu_rchése will be the only asset in the block it belongs to

| and the applicable depreciation rate to 'this' block is 25% on written down value.

" “The asset will require additional investment of Rs. 20,000 in working capital from the -

* very beginning. This will be realised at the end of its useful life. The desired rate of o

return on investment for the cofnpan is 12% p.a. and the tax rate is 35%. Should the

asset be purchased 7 . - . ‘_ _ '. B | 107
Yeal.‘ ,. | Discount Fa;ctor
at 12%

L 0.893 B

2 | o 0.797
3 (.).7‘12

4 | . 0.636 '
s 0.567
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b Exp]ain the non-discounting feéhniques of capital budgeting for decision makingr. 5
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Shyam Ltd. Capital structure i$ as follows

Rs. .
Equity capital (Rs. 10 each) - . - ) | 1500000
AR.L;,tainelc.lEamin.g's . DR o | S 20,00,000
" 12% Preference Share Ca;ﬁ{tal' (Rs. 100 egégj - o 1,0_0,000
1% Term loan B | o 12,50,000j
ll.S‘Vo ].']_ebenture-sl (Rs.’IOO each) o | .i . . ' 10,00,000

The next expected dividend on eq’u.ity} shares per share is Rs. 3.60, the dividend per share

is 'expf.:cted to gfow at the tate of 7%: Th§. market pricé. pe-r share is Rs. 40
Preference sha;res,redeérﬁalb]‘é after 'IOI.years= are cprrently selling at Rs. 75 per share.
Debentures rédeemab'l'e after 6 years, are.c.urrently-seuing at_.Rs’. 80 per debent_ure. '
Tax rate for the company 1s 35%.

‘C_alculate the we'igilted averége cost pf capital using:

(@) Book value weights and

(b)) Market value weights. ; ' ‘ 12
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.
15,00,000
20,00,000°

1.00,000

12,50,000

10,00,000
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(@) A company has a sales tevel of 20,000 units @ Rs. 600 per unit, It has a fixed cost

of Rs. 6,00,000 and variable costs Rs. 200 per unit. The credit allowed by the company

is 30 days. The dompany proposes to relax the prééent credit policy to :

() 60 days and

@) 90 days,

- The following estimates are provided :

1%

Particulars Existing Proposal A VIProposal B|
Credit peri‘odl 30 days 60 days 90 days
Increase in sales — 20% 30%

Bad deblts 2% 3%

The fixed costs increase by Rs. 60,000 beyond an increase of 25% of the current .

sales. The company plans to have pretax return of 20% on its investments in receivables,.

Advise the firm as to which of the proposals it should adopt ?
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(b) Explain the concept éfljelinquen_cy cost. - 3
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4. () Calculate working capital based o the following daty -

Estimated Cost . . o Rs. per unit
Rawmaterials = S0
Direct labour .- o - 50
Overheads -~ - _ 100
Toal - - - 300 .

" The othér information is ag follows : -

v Sellingpr_icéperunit' ' ‘ : B . _ - ‘ - Rs. 350

-

Level of activities . L 2.08,000 units per annum

Raw materials in stock average 4 weeks -

. Work-in—progfess : Assume I’OO%-co.mpIet-ioh of matén'als and 50% fér.labour and oyf.elheads
‘-aver'ag.e two weeks.r , | : , | o
Fih‘ished goéds in sto.ck é\/erage 4 weeks . -
éredit aliowed by s_up;')jier.s éverége 4 Weeks .

Credit allowed 1o debtors average 8 weeks

~ Lag in Payment Of wages 2 weeks
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